SOLUTIONS:
Division Point of a Line Segment

1) Determine the coordinate of Point D that divides line segment 4B in aratio 1:3 from Point A (-4, 8)

to Point B(12, -32)

Xp=x + (ﬁ)(Ax)

xp= (-9 +(3)(16)
Ty == 4)k (}1)(11_6)
xp=(-4+ (14—6)
= (St

xp =0

Y=yt (a;:b)(Ay)

yp = (8)+(}) (40)
YD :(8)+(}T)(%)
v =@®)+(2)
yp = (8) + (10)

yp =18

Workshop
A(-4,8) B2, -32)
@ = Ax =x, — x;
Ax=(12) - (- 4)
2 Ax=12+4
atb=4 Dl
x = -4 Ay =y, -y,
Ay =(8) - (-32)
py =8 APSESSHE?
Ay =40

Point D (0, 18)

2) Determine the coordinate of Point D that divides line segment EF in a ratio 1:3 from
PointE (- 16, 12) to Point F(32, -48)

Xp=x; (ﬁ)(Ax)

Xp = (= 16)+(3)(48)
xp = (=16)+ (1) (£)
xp = (- 16)+(é1_8)
xp = (- 16) +(12)

X, =—4

Vi Y1 (aaTb)(AJ’)

yp = (12) + (1) (60)
Vb :(12)+(zl1)(61_0)
yp = (12)+(2)

yp = (12)+(15)

gy = 2T

Workshop
Ei(= 16,12) " (EB2,) < 48)
gi= |l Ax =x, — x;
Ax = (32) - (- 16)
e Av=32+16
s s ol Ax=48
Xyt 1161 DT W
Apiz (= 48) = (12)
b —ip s e T
Ay =60

Point D (- 4,27)




3) Determine the coordinate of Point D that divides line segment GH two thirds of the way from
Point G(-7, 15) to Point H2, -6)

o (;ﬁ—b)(Ax)

p==N+(3)®
% =(7+(G) (D)
Tpimils 7)"’(_%)
xp=(=7)+0)
xp,= -4

Voo Ve (gaTb) (Ay)

yp=(=12)+(3)(-21)
vy =(H2Y ()=
yp=(-12)+ (%)

Ly == 20 R

yp =27

Workshop
Gi(=T-813) H(2 i —6)

Ax = x, — x,
Axe=i(@) = (=7)
Ax=2+7
Ax=9

= Ay =y, -y,

Ay = (- 6) - (15)
Ay= -6-15
Ay= -21

Point D (- 4,27)

4) Determine the coordinate of Point D that divides line segment 1J in a ratio 2:3 from
Point J( -7, 16) to PointI1(3, -4)

xp =x +(35) (&%)

xp=03)+(3)(-10)
=03+ ()(F)
0= @) (L)

¥p = B)H(=2)

G ]

Jop T +(ﬁ)(A)’)

yp=(=4)+ (%) (20)
Yo G AN
Vi (S}l (%)

Yo (04) 18)

Vntw 4

Workshop
I3, -4) J( -1, 16)

X = =y
Ay ()
= -7-3

Ax=-10

=3 Ay =y, -y,

Ay LG )
Ll Ayi=il6 g
Ay = 20

Point D (1,4)




5) Determine the coordinate of Point D that divides line segment KL %from Point K(14,49) to

Point L(35,77)

xp =%+ (%) (&%)

xp =14+ (%)@l
97 :(14)+(%)(21_1)
25 =(14)+(‘$)

xp = (14) +(6)
Xy 20

Yp = (aaTb)(Ay)

yp=49+(3)(28)
yp=1@9)+(3) (%)
vp = (49)+ (%)

yp = (49)+(8)

57

= 49

Workshop
K (14, 49) L35, 77)
Ax =x, - x;
Ax = (35) - (14)
Ax= 35-14
B Az =0l
14 Ay =y, =y,
Ay = (77) - (49)
Ay = 77 -49
Ay = 28

Point D (20,57)

6) Determine the coordinate of Point D that divides line segment @ a quarter of the way from
Point Q (- 1, 3) to Point P(53,— 17)

ap =% =5 ) ()

xp=(=1)+(3)(54)
3 s N (;—)(il‘l)
xp = (=1 +(%)

xp =(-1)+(10.8)
%= 08

Wiy ) +(ﬁ)(Ay)

o= )+ (3)(-20)
LGl i)
yp=3)+(F)
yp=()+(-4)
nireil

Q(-1,3)

Workshop
P(53,-17)

Ax =x, —x,
Ax=(53)-(-1)
Ani=t58 1
Ax=54

Ay =y, -y,
A= 1 (5)
Ay= -17-3
Ay = -20

PointD (9.8, —1)




7) Determine the coordinate of Point D that divides line segment RS inaratio 3: 5 from
Point R (- 77, -24) to Point S(11, 48)

%= X =Y (Ax)

xXp=(=77)+(2)(88)
% =(1+(5) ()
xp = (=77 + (%)
xp =(=77)+(33)
xp= —44

yp =31+ (35) W)

yp=(=24)+(3)(72)
Yl G s (%) (71_2)
yp=(=24+(%9)
91 e e L )
Yp=3

Y1

Workshop

R(-77, -24) S(11, 48)

e

= _24

Ax = x, - x,
Ax=(11) - (-77)
A GLEHAT 7

Ax =83

Ay =y, -y,

Ay = (48) - (- 24)
Ay = 48 +24
Ayl

Point D (- 44, 3)




